
Math 4 Classwork #7

1. Calculate:

9 + (–4) = 9 – (–4) = –9 – (–4) = –9 + (–4) =

6 + (–8) = 6 – (–8) = –6 – (–8) = –6 + (–8) =

2. Remove parentheses:

a). 2(2x – 1 + 4b) = _______________________________ 

b). (x + 7 – 5 w) · 4 = _______________________________ 

c). 7(3t – 5 + 4g) = _______________________________ 

3. Simplify or calculate:

1 cm + 3 cm + 5 cm = x + 3x + 5x = 

3x + x + 9x – 12x = x – 2x = 

3x + 3 – x + 7 = 3 + x + 2 – 4x = 
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6. Solve equations in your notebook:
1
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x=2

1
3
y=5

1
6
w=6

2x = 1 5y = 1 7w = 1

Additional: simplify

(x + 1)·4 + 5 = _______________________________________________________ 

(2y – 3) + 1 = ________________________________________________________ 

(3x + 2)·2 + 5 = ______________________________________________________ 


